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FLLt - =X 1 49, 124, 929
FNET = 1 15, 889, 662
PEHI L (ICT) = 1 2,142,520 |#@H (ICT) 5, 800 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
AR
BT =X 1 26,995 | BEIA (FLtE) kL 5 m3
2. 5mATH
%+ (1CT) = 1 285,670 | BEIA (FEER) X 1 (TICT) 1,100 m3
BT T (ICT) = 1 2,324,697 |IEmEFET (B)135) (ICT) 2, 260 m2
VY = W R OWhE = CREE L
BRI (B 1356) (ICT) 650 m2
EmEAFEOEL
P v T = 1 11,109, 780 | %Xkt 1 =
B2 A couE
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
Ve = 2 1 24,517, 414
EELT = 1 733,952 | KR D 1 X
+4)
HEL 1 2V
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M EY T 2 1 2,508, 150 |7 V¥yANpEEE: 46 m2
45 MEB T
307A 1, 000 X 266 X 630 ;
7" Vv N B 20 m2
55 B L
307A 1, 000 X 266 X 630 ;
fliAE T = 1 21,275,312 |:EFV 4752540 2,255 m2
PiEE3m/sLEL T ;
[le¥ea 650 m2
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EE T 500m2LA |
R T = 1 2, 065, 375
TA7 7 Ml T X 1 2,065,375 | T/ (HE - BRIE ) 775 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 775 m2
FAEBRIEET A2/ (20) AHMEE 50mm 3. OmiR ;
HEE L = 1 2,417,166
HEYHE L T = 1 1,326,359 | HAEAL S 757 m2
J79yx¥=7/ t=150mm ;
/) ) -MEEEUE L 115 m3
MRS BblE T
/) ) -MEEEUE L 11 m3
ERApIEEY) FAE T ;
ERZE IR 25 m
TAT 7 MEEERR 15emPL T
EhAE AR AR 760 m2
TA7 7V MERZE R BHZENRUE 15emlA T
TR AL T = 1 1,090, 807 | B&MEATEMRLER 113 m3
179Y%=T7
o 1 115 m3
/)= (AT
o 1 11 m3
/) -hik Bk
o 1 38 m3
TAT 7V
By 115 m3
/)= (AT
By 11 m3
/) -hik Bk
By 38 m3
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A = 4,235,312
TEHERKT = 2,045,012 | THEAEKRE LT 1 =
BRE -
1 =
FAEITyvr-77 B 100mm
B EHT = 2,190, 300 | A EFHEE K E 1 F2V
[ERAE Xy = 49, 124, 929
HiE 2 = 6, 759, 000
BISTIGE: = 1, 700, 000
HeffrE sy = 1, 146, 000 | YATARIERE (1CT) 1 =
BGRESGESE (5 L) = 554, 000
B (FEHL) = 5, 059, 000
T = 55, 883, 929
Bl gy = 18, 212, 000
T =5l = 74, 095, 929
— R A = 13,174, 071
T =AM = 87, 270, 000
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